Sub.Code ; 4181

NEB - GRADE XII
2080 (2023)
Finance
(New course)

{For the students whose first two digits of registration number starts form 78 and 79)
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Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks,

Time: 3 hrs. Full Marks: 75
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Which financial statement shows the operating performance of a business ?
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Write the meaning of Inventory turnover ratio.
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B8 of debt for the company.
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ou want to 1import 100 laptops from Japan. Cost per laptop is 48,000 Yen
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an. If the current exchange rate is Rs. 12 per 10 Yen. How much

in Jap .,
should you pay for 100 laptops
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Assume vou are appointed as a financial manager of a company. What kind
of roles will you play for financial planning and control ?
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How do you prepars income statement ? lllustrate.
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B. Company has average selling price per unit is Rs. 250, variable cost per
unit Rs. 200 and fixed cost is Rs. 4.50.000. Find out Break even point in
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b period of 50 days, receivable

deferral period is 15 days.
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Define spot rate and forward rate and distinguish between spot rate and
forward rate,
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FTEAT TAT 9.349% = 7.9 9,00
Consider the following exchange rate
US Dollor 1.00 = Euro 0,8934
Canadian Dollor 1.3515 = US Dollar 1.00
What is the cross rate of Euros to Canadian Dollors ?
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The following financial information of a company given as :
| (Current Assets) Rs. 80,000
Ra.40,000
2 times
Rs. 4,00,000
Rs. 1,00,000
Rs. 6,00,000
Rs. 60,000
1 +14+2+1+1+1+1
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Following information related to bond are given :

afiuEs sy (Maturity period)

71 years

i q+ (Par value) Rs. 1,000
T X (Interest rate) 0% (Zero coupon)
yiq®s 2T (Rate of return) 12%
ST @WeHee. (Required) : ¥

HITTH 4 (Value of Bond)
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A company has just paid a dividend of Rs. 25 per share, shareholders required

a 16% return from their investment. If expected rate of growth is 1
year and face value per share is Rs. 100.

ST & ETEE (Required) :

¥ FGHE T4 (Value of stock at present)

0% per

¥

qfrsET (Project) B
(5,00,000)
90,000
80,000
1,20,000
1,00,000
2,00,000
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